4.6 Graph Using Slope-intercept Form
Slope-Intercept Form: Y = mx +?.23 m= L1

- —

Ex1) Graph: y=5x—-3 -k N Pm’l down
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sTep1 ldentify the and the]f-illt_ercept] vight

STEP2  Plot the point that corresponds to the y-intercept, (0,3 ).

STEP 3 Use the slope to locate more points on the line from the y-
intercept. Draw a line through the points.
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Ex2) Graph the equation

a) y=3x-4.
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c) y=—x+2 ™ (0, 2)
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Ex3) Graph the equation 2x - 3y =3. Solw fox Y
Rewrite the equation in slope-intercept form. {=mxtb

243y =3 Try) 3x-dy=a4.
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Graphs of Horizontal and Vertical Lines.
Ex4) Graph the equation

a) x=-2 Neificad ki b) y=5 Horigoilad Liw
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Ex6) Write the equation in slope-intercept form.

a) m = 3, y-intercept: -2 b)m=0.5b=15
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Point-Slope Form: y—-y, =m(x-x,)  Peint (X3
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Ex7) Write the equation in point-slope form. r,.. i slipe fom
oK) Y+2 = 5(X#3) m=5 3 pont (-3,-2)

a)(-3,-11);m="% b) passes through the point (1, 3)
XY & has a slope of —4. X\ 3y
Y+l = 3(x+3) y-3=-4(x-1)
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c) (-2, 8), (-6, 0)
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Step 1: Calculate the slope. m=-—2*—- = —— ~
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Step 2: Plug slope and one of the points into point-slope formula.

Y-8 =2alx+21)



Ex8) Write the equation in slope-intercept form. Yz mx tb
a)(-2, 5)and (2, -3) b) (-1,-7) and (2, 2)
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Step 1: Calculate the sl m= — -3 -
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Step 2: Plug slope and one of the points into H +4 = f) [1'.+I )
point-slope furmulam

Y-5 =-2(x+2) Y3 = 3X 3

-3

Step 3: Distribute & get y alone. - 4
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4.1-4.4 Review: Quit wm.Frijay

1) Identify whether {(1, 3), (2, 5), (3, 7), (4, 9) satisfy a linear
function. Explain. W

1!5; becaws Kij hawe ths same Wﬂ}m-

2) Identify whether xZ — y2 = 4 satisfy a linear equation.

No
3) Find the x- and y- intercepts of 4x — 2y = 8.

X-int: Y X m =3 Y-t - 9,(%]’-13:8

yx = 8 -2y =8
X= 2 y=4
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4) Find the x- and y-intercepts from a graph.
Xk (-2, o ) ‘;'1:"'"{"[~“"'”




5) Find the slope of (-3, 4) and (-2, -6).
Yo -Ya -b -y -0
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6) Find the slope from a graph.  7) Write y = 3x + 4 inlstandard form|
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8) Write the equation in|slope-intercept fnrm-} m=-%,b=3
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9) Find the slope and y-intercept of 2x—3y =6 Sohe ot Y
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10) State the positive, negative, zero, and undefined slope.
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11) Write the equation in slope-intercept form from a graph.
Y=mx+b b=y
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12) Graph each equation.
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